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— AT 21N NP BN 7N AN0T
For generally 177977° and %975 are like in a state of emergency

OVERVIEW

The mwn stated that there is no 7P between 7717 and 2°23, even though generally
TRMD R 1ID2 ROW ARMN, because 2773 7717 are considered to be 171°n nyw> and
there is no free flow of information from one to the other. M50IN contrasts this
ruling regarding 7117 with a different ruling regarding the ann11 2021 °192 of a va.

nooIn asks:
— (3 nnnn M7 0w 3,797 P02 YN 99K V) 22)T NIV INII 9NN ON)

And if you will say; and why is there this difference that regarding vs where

the mwn states in the beginning' of 37w noon -
— 0NN 3931 2193 %393 1Y T59¥ PN INIYS YIN 1R3511Y 139101 V) XY
A m5v who brings a v» from one country to another country in >"X is not
required to say 1''92) 1''D3; the X3 there explains, the reason is -
— 1959 5759Y NIYN ‘D929 9P NIINT 1199 DIV
Because since there are '3 "9, witnesses will definitely be found to
authenticate the v3. The x7»3 there continues -
— 7559w NAWN I99anT (09397 513 NIINT 1199 *WTDNN 1192 PRV 11T 1999N)
And even nowadays when the P''%:153 is not [existing], nevertheless, since there

are established courts of law, 0°7v will surely be found to be o»pn this vx. The
question is why regarding a v there will be M>»pH 1¥n 279 (even from 2°732 777°), regardless
that it is 017’1 nYyw>, however regarding nXn», our 7Iwn maintains that since 223 777 is Nyw>
7 217, therefore no one will hear the nRnn. If there are sufficient travelers for a1’ there should
be sufficient travelers for a fXn» and vice versa.

'y,
25"%a 73k 73 Tan would mean for instance from 7T to 973 which are considered different n1Ta regarding 3, just
as they are considered different mxaX here concerning mpim.
? A va1 v from "0 must say 1192 to assure us that the 07y signed the 3 at the behest of the husband.
* The 2931 *2w who are travelling from all parts of *"X to the p"»7*2 in 25w, meet other people and transact
business with them and there will always be people available (in every city) who know the signatures on the v3 (even
from another 11°71). Therefore the testimony of the 7w (to say 1"93) is unnecessary, for we can always be 0>pn the
vx with 079 (as opposed to "2 71717 7211 where these reasons do not apply and 1"52 is necessary).
5 The n"37 M7 amends this to read 170 3R WIpnn
% People come to the 7"°2 from all parts of the country where they meet up with strangers and become acquainted
with their signatures.
"It was necessary for N19010 to mention the additional reason of *¥°2p7 2°1°7 °n2 (after the p"»i2 127), in order that
one should not answer that the m1wn in w3 is discussing the time when 2>p p"ni°2, and our 7Iwn is N2 1277 RS,
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Mo0IN answers:
— D99)D NN ITON 1PY 1PNNN V) 22) INTIT 91290 W

And one can say; that certainly regarding s it is %"p% 191272 even from 7737

to ©9%3; the reason is -
— 099D 519 INN TINY NYA9 NYNAY 2aY

Since it is natural for the woman to search for a»p 7w -
—INNNN YWY XY DIV NIV NIVT IND IN NI HaN

However here regarding a 7pt1 and nxnn, if it would not be very common for

people to travel 737 771, the p>1in would never hear of this xm» -
—PIND ONYID AN BN TINY 933 PIINN PRY

Since it is not usual that the p31» inquire whether the p"» is 77% or not -
— 90 NY 19357 5N2) D939 SNPT MI»Ya 7a50

Therefore the caravans of the 2¥537 *97w or the 2°1°7 "n2 are not sufficient that he
will hear the nXmn, rather it is necessary that they reside in the same (7721°72) vX, where there will
much more people traveling from place to place to publicize the fxmn.

nooIn asks:
— ('NDAYY NDIYM) TSN NYY 29 (x) 91 DNN 1IPIINT RN AN ON)

And if you will say; and regarding this which the X773 states there in 7°0°3 'on that
w'"1 required saying 1"91 even when a V3 was brought from one [7112w] to a

neighboring [masw]"! -
— NNOY NNINA ITIAN 729811 N29Y

And X321 required saying 1"92 even if the 03 was brought within the same ;7210w -
— 79937 RTINM 232 2INY 23UNY 1195DY 199810 D21y PRY 292 99NT NIN N2 NN 7999)

And the X773 questioned this ruling of ¥27; ‘but 829 is the one who maintains
that the reason for saying 1"91 is because (if a v is brought from 2" to *"X) there
will not be 2%ty available to be 2%p» the VX, however in one 7110% there will
certainly be people who recognize the 72°nr of people in the same 7110w. And the
X3 there answers; ‘the X 512 are different from other people because they

are constantly on the move’. Therefore it is possible that neighbors may not recognize the
signature of their neighbors. This concludes the citation of the X723 in w3 Now nMooin

8 It could be a case where the husband was 7w wn that he never sent the 3 (and the woman remarried already), she
will be very eager to find o1p *7¥ (and even if there is no My7Y, she may want on her own to be 0>°p» the nw°ni so
she is sure that she is divorced). It is in her interest to find 01°p *7¥; therefore we assume she will find them.
? See noIN on previous IR 7T TNV,
19 The o"wn n11om amends this to read g2ows Ta9wWR (instead of X07wH X07WN). [See "W there Xown 1"7 who writes:
T730W 7MWY 1"'70 732w 2°037 NWR:
' See *"w there AMOWwn 7"7 who writes: (XD A7) "y N2oMa 2°N2 AWHY A1OW aND.
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concludes his question -
— ZmnnY 19305 a5 71085 ANNM 1N XY 19393 X9YW ANNM NHNNT NS 5 ION

Shall we say then that in X172 a 1392 XYW 872 will not be a 7xn” (just as we
say that there are no ¥»pH 1"™xn 07V in X7 [since they are >771]), and it will be
necessary for the 1¥7v» to come in the presence of the >*1n to make a axma?!"

N1B0IN answers:
— 0 19959 XHNHA VIN Y BIPMNYT 11 8T 9115 W

And one can say; that the two cases (of ovp and 7AXAM in XNA7) are not

comparable, for when the people of X1 sign on a v and go on their business
journey -
— 5599 03 HY MNNN NNIN PP IPYLY 797 PN

It is not customary that the 2>7v will shout in the city we signed on his ©3 -
TPOTNNN N2 YNIYIY 1Y DIINN PYNIVI NN 21D 9919 MDY BNYN 797 ANNNA YaN
However by n8m» it is customary that on their journey they tell others that so
and so made a 8m2 and others hear about it and repeat it to their friends until it
is heard in the s'P31n% house.

SUMMARY

Regarding 7317 717 the woman will find the o1p *7v (she is seeking), more
readily than the P will hear the Axnn (which he is not anticipating); however
regarding >7717 X111 °13, it will be easier to hear the 7Xmn (through noX X727 X720
) than to find the ovp *7v who are on the go, and not available.

THINKING IT OVER

MODIN writes 1ANM NAIR PV PYYW TIT PR, ete.'® Can we infer from noon that if
they would announce that they signed, and others heard them, can the others be
a»pn the 7w based on what they heard (7v *on 7:])?17

"2 In the previous answer MooIN just explained that it is less likely that a xn» will be heard (71727 737an), than D7y
will be found who can be 0»p» the va. It would therefore follow that whenever we assume that we cannot even find
ovp "7y, then certainly the Xn» will not be heard; for a X to be heard is more difficult than 0*7v to be found.
13 noon finds it unreasonable that we should assume that in XN a XM must be only 1192. (See X% 77"7 R,05 '0W1.)
' See nvOMN in 11 17"7 2,7 Pv who states: D2 TIXWD QTP K¥ K *TIT 1D O TR Yax: See following footnote # 15.
'> The woman may not know when the 2>7v who signed on the 3 (or recognize the signatures) are leaving; if they
would announce it perhaps she could have intercepted them before they leave so they would be o»pn the vi. See
‘Thinking it over’.
' See footnote # 14.
"7 See v mx 7"0.
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